PRACTICE PAPER

Time allowed: 45 minutes

Maximum Marks: 200

General Instructions: As grven in Practice Paper — 1.

Section-A

Choose the correct option:
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{d) Mone of these
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(d) (=1, 2)
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If P=({0 =i ilandQ=|0 0| then PQ isequal to
=i i 0 io=i
-2 2 2 =2
2 =2

@1 -1 by |-1 1 (€) l-l . I

1 =1 =1 1

a=b Db+c a
The value of determinant (b=a c+a b|is
c=a a+b ¢
(@a+b+c (b) 3abc (c) @+ I+ =3abe
If A is a square matrix of order 3 such that | A| =2, then the value of |adjladi A)| is
{a) =16 (b) 16 (€) D
d*y
Value of ——, if x = al”, vy = 2at is
P y

=1 1 =1
1) — b :
(a) P (b) 2P () Py
The line y = x + 1 is a tangent to the curve y” = 4x at the point
() (1,2) (b) (2.1) () (1,-2)
The value of [tan’x dx equals
Mtanx+x+C b tanx=x+C () cotx +x+C

. & &
-gin ¥ ¥cos x

The value of | —————— : S dx equals
sin“x cos x

(d) =tanx+x+C
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The value of | cosecx dx is
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The value of |- T+ cosox & is
1 =1 1
(@) 5 (b) = (c) O (d) T
The area of the region bounded by the curve +° = 4y and the straight line vy =4y =2 is
(i) % 5q. unit (14} % 5q. unit () % 5q. unit {d) % 5q. units
dy (dy\@
The order and degree of the differential equation F‘. ( .:itr] + ' = 0 respectively, are
{a) 2and 4 (b) 2and 2 {c) 2and 3 {d) 3and 3
The solution of differential equation tan y sec’x dx + tan x sec’y dy = 0 is
(a) tanx + tan y=k (b) tanx=tany=k () :2:;:1— (d) tan xtan y =k
Consider a LPP given by
Min Z = éx + 10y
subjectto xZ 6y 2 2; 2x+y = 10; x, y =0
Redundant constraints in this LPP are
(@) x=0,y=0 B) x=6,2v+y=10
() 2x+y =10 {d) none of these
The probability distribution of a discrete random variable X is given below:
X 2 3 4 5
PiX) uz2 u3 14 us

then the value of E[X] is
(a)1 (b) 2 (c) 3 (d) 4
For binomial distribution Blsx, p) mean is
(a) npg (b) ng {c) np (d) none of these

Section-B (B1)

“Every relation is a function and every function is a relation™ then which is correct for given statement ?

(1) True (b False

(c) Can’t say anything (d) Mone of these

Let * be a binary operation defined on Q - {1} by the rule a * b= a + b - ab. Then the value of 2* 3 is
(@) 1 (b) =1 c) 2 (d) =2

If f: R — R be given by flx) = tan x, then f™ (1) is
(1) x/4 (b) {nw+x/4:nez) () Does not exist (d) Mone of these
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If fix) = x° = 1 and gix) = 3x + 1, then gfix)] is

(@) =1 (b) 2x*=1 (c) 32=2 () 222 +2
If f: R — R is defined by flx) =3x -4, then f™ : R —+ R is

xr+4 1 3
{a) 4-13x (b) 3 ) 373 ) T4

The value of sin [2 tan™ (0.75)] is

{a) 0.75 (b) 1.5 (c) 096 d) 15

Mathematics

If x| =1 then2tan"'x+sin"( . ) is equal to
! 1 + xz eq
(a) 4 tan™ x (&) 0 (©) % @) =
If cos™'x > sin™" x, then
(a) L,_<x51 (b) 05x<L,< (c) -15x<+_ (d)yx>0
v2 v2 v2
The value of cos™ (2x* = 1),0 <x <1is equal to
(@) 2cos™' x (b) 2sin™'x (c) T=2cos™ x (d) *+2cos™ x
1t A=|> 7| then A?-354i
g o pthen A"=54is
(a) 1 (b) 141 (c) O (d) None of these
Which one of the following is correct?
(a) Skew - symmetric matrix of odd order is non-singular.
(b) Skew - symmetric matrix of odd order is singular.
(c) Skew - symmetric matrix of even order is always singular.
(d) None of these
The area of a triangle with vertices (=3, 0), (3, 0) and (0, k) is 9 sq. units. The value of k will be
(a) 9 (b) +3 (c) =9 d 6
: L oz 21 [-3 2] 1 0
The matrix A satisfying the equation [3 2] Al 5 _3] lo ll is
41 b 1 4 ) A | )
(a) 1 0 (b) 10 (c) 10 (d) zero matrix
If the function fix) defined by
log(1+ax)-log(1-bx), jfx#0
flx)= x is continuous at x = 0, then the value of k is
k , ifx=0

(a)a (b) b (c)a+b (d) 0
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Let flx) = |sin x|. Then,

(a) {x) is everywhere differentiable.

(b) {x) is everywhere continuous but not differentiable at x = nx, J'J'EZ

() x) is everywhere continuous but not differentiable at x = (2n + ]}| —,nef.
(d) Mone of these

dy
If ¥ = ", then —— is equal to

x
y [xlogy-y
(a) x log x (b T m. () 0 {d) MNone of these
If y= v"-sin x+ y"fsin x+sin ¥+ ... oo, then rm is equal to
COS X
{a) Zy 1 (4] ﬁ () 0 i) None of these
The minimum value of x* (x > 0) is
(@)1 (b) ele (© {H‘ (d) none of these
The value of | ﬁdx equals
Vx
{a) E:rsﬂ-rék sl = fm ID Pt e T
(c) i'I:S'FE-E:L‘HIME {d) —1:5"'3+—:r3'”+1rm+c
5° 3 57 3
The value of [logx dx is
(a)xlogx=x+C (b) logx=x+C (c) xlogx+x+C (d) log x +C
ES ."m -
The value of | —————dx is equal to
2 Vx+,10=-x
(1) 3 (b) =3 lc) 3 (@) 0
The area of the region bounded by the curve y =16 - x and x - axis is
(a) Bx 5q. units (b) 20% sq. units (c) 167 sq. units (d) 2567 sq. units

The differential equation for y = A cos @ x + B sin o x, where A and B are arbitrary constants is

d*y dy d'y y
(i) ?-u y=0 iB) Fh] y=10 () ‘h—z+uy=l] () F-uy=l]

[
The integrating factor of differential equation (1 -::'I}Ey -xy=1is

(@) -x ® © V1-2 (@) Flog(1-x7)
In the triangle ABC, which of the following is not true?

(1) AB+BC+CA=10 () AB+BC -AC=10

() AB+BC -CA=0 (@) AE=-CB+CA=0

If @ and b are two collinear vectors, then which of the following is incorrect?
(i) b= 3'-3, for some scalar .
By a=zh



(c) the respective components of dandb are proportional.
{d) both the vectors a and b will always have same direction, but different magnitudes.

If @ is a nonzero vector of magnitude a and . a nonzero sealar, then Aa is unit vector if

@i=1 (b) L==1 (€) a=In] (d) a=1/IAl
—rr — i = 'IE — —
Let the vectors g and b are such that |a |[=3and|b |= *3 . then a x b is a unit vector, if the angle between
a and b is
@x/6 (b) = /4 () =/3 d)=/2
If a line makes angles @, B, y with the positive directions of coordinate axes, then the value of sin” @ + sin® B
+sini1fls
{a) 2 b1 {c) =1 {d) none of these

If the line makes an angle of % with each of y and = axes, then the angle which it makes with x-axis is

(@) 0 (b) n (@) % (d) E

Mathematics
Distance of the point (a, B, y) from y-axis is
e ® 1B @ 1B1+1v @ Va+ ot
If the direction cosines of a line are &, k, k then i i
(@ k=0 (b)) D=k<1 () k=1 (d) k= +.-"'_3m‘ ,—3
W

If A and B be two events such that Pid) = %, PiB)= % and PIAUR) = %, then PIA/B).P(A"/B)is equal to

12 3 31 (3]
(@) = b € 35 ) 3
Two events E and F are independent . If P(E) = 0.3 and P(E u F) = 0.5, then P{E/F) = PIF/E) equals to
12 31 1 1
(@) = (B) == ©) = d) =
Three persons A, B and C, fire at a target in turn, starting with A. Their probability of hitting the target are
0.4, 0.3 and 0.2, respectively. The probability of two hits is

{a) 0.025 (b) 0.188 () 0.339 (d) 0475

A== mMI-—->=



